Darken in the letter corresponding to the choice that has the larger atomic radius:

	Question number
	Choice A
	Choice B

	21.
	Ca
	K

	22.
	Ba
	Mg

	23.
	P
	Te


Darken in the letter corresponding to the choice that has the larger ionization energy:

	Question number
	Choice A
	Choice B

	24.
	Fr
	F

	25.
	Al
	Cl

	26.
	O
	Br


Darken in the letter corresponding to the choice that has the larger atomic radius:

	Question number
	Choice A
	Choice B

	27.
	Mg
	Mg+2

	28.
	O
	O –2

	29.
	S –2
	Cl

	30.
	N
	Br -1


Questions 31 – 35 How many valence electrons does each element have?

A. 1
B. 2
C. 3
D. 4
E. 5
AB. 6

AC. 7

AD. 8

31. strontium, Sr

32. arsenic, As

33. aluminum, Al

34. xenon, Xe

35. potassium, K

Darken in the letter corresponding to the choice that has the larger atomic radius:

	Question number
	Choice A
	Choice B

	21.
	K
	Ca

	22.
	Mg
	Ba

	23.
	Te
	P


Darken in the letter corresponding to the choice that has the larger ionization energy:

	Question number
	Choice A
	Choice B

	24.
	F
	Fr

	25.
	Cl
	Al

	26.
	Br
	O


Darken in the letter corresponding to the choice that has the larger atomic radius:

	Question number
	Choice A
	Choice B

	27.
	Mg+2
	Mg

	28.
	O –2
	O

	29.
	Cl
	S –2

	30.
	Br -1
	N


Questions 31 – 35 How many valence electrons does each element have?

A. 1
B. 2
C. 3
D. 4
E. 5
AB. 6

AC. 7

AD. 8

31. arsenic, As

32. aluminum, Al

33. xenon, Xe

34. potassium, K

35. strontium, Sr

